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Date:

Teacher:

Class:

Subtraction 510

Why did they throw the elephants out of the public swimming pool?

Because they couldn't hold up their trunks.

Subtract these numbers to find the total.

Some questions involve trading.

137,809 2 76,949 3 40,549 4 68,297 5 18,672 & 97,865
- 3,913 — 6,564 - 9,633 - 22,430 - 7,759 — 79,049
7. 32,859 8 56,528 ° 41,511 100 17,114 11 68,661 12 91,801
- 6,801 — 54,048 - 8,571 — 10,726 — 8,008 - 31,201
13. 67,404 14 88,189 15 85072 16 28354 17- 46,255 18 34,486
- 9,332 — 58,878 - 6,677 — 6,681 — 6,778 — 22,437
19. 54,310 20 47581 2% 30,641 22 15,493 23 60,675 24 88,917
— 9,090 — 24,964 - 9,130 - 12,838 - 3,077 — 2,108
25 60,078 26 82,421 27 74,731 28 67,040 2% 35,681 30 21,989
— 2,236 - 31,160 — 6,926 — 64,014 — 4,276 - 3,194
31. 13,570 32 20,066 33 13,934 34 63,195 3 04,685 36 70,288
— 6,798 — 5,478 - 11,315 — 12,368 — 45,060 — 1,154
37. 84,111 38 36,409 39 26,432 40 21261
— 3,069 — 35,341 — 8,966 — 11,022
© Facilitators Ferriswheel WS#:Sub510 Score:



Answer Key

Date:

Teacher:

Class:

Subtraction 510

Why did they throw the elephants out of the public swimming pool?

Because they couldn't hold up their trunks.

Subtract these numbers to find the total.

Some questions involve trading.

137,809 2 76,949 3 40,549 4 68,297 5 18,672 & 97,865
- 3,913 — 6,564 - 9,633 - 22,430 - 7,759 — 79,049
33,986 70,385 30,916 45,867 10,913 18,816
732859 8 56,528 ° 41,511 100 17,114 11 68,661 12 91,801
- 6,801 — 54,048 - 8,571 — 10,726 — 8,008 - 31,201
26,058 2,480 32,940 6,388 60,653 60,600
13. 67,404 14 88,189 15 85072 16 28354 17- 46,255 18 34,486
- 9,332 — 58,878 - 6,677 — 6,681 — 6,778 — 22,437
58,072 29,311 78,395 21,673 39,477 12,049
19. 54,310 20 47581 2% 30,641 22 15,493 23 60,675 24 88,917
— 9,090 — 24,964 - 9,130 - 12,838 - 3,077 — 2,108
45,220 22.617 21,511 2,655 57,598 86,809
25 60,078 26 82,421 27 74,731 28 67,040 2% 35,681 30 21,989
— 2,236 - 31,160 — 6,926 — 64,014 — 4,276 - 3,194
57,842 51,261 67,805 3,026 31,405 18,795
31. 13,570 32 20,066 33 13,934 34 63,195 3 04,685 36 70,288
— 6,798 — 5,478 - 11,315 — 12,368 — 45,060 — 1,154
6,772 14,588 2,619 50,827 49 625 69,134
37. 84,111 38 36,409 39 26,432 40 21261
— 3,069 — 35,341 — 8,966 — 11,022
81,042 1,068 17,466 10,239
© Facilitators Ferriswheel WS#:Sub510 Score:



